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Introduction to Factoring

| used the distributive property below. Find the missing number that | distributed to get my answer.

NN

1) %7 (x +6) ' 2) ?2(m+8) 3) (-9
3x + 18 9m + 72 49 — 16
23]

4 ?7(2x+3) 5) ?2(5n—17) 6) ?7(3d+4)
16x + 24 40n — 56 9d + 12

| used the distributive property below. Find the missing number that | distributed to get my answer.

1) 3x + 21 2) 4t — 44 3) 5h—-60
2(x+7) 72(t-11) ?2(h—12)
8)2 7
?-13 |
4) 22x + 33 5) 30x — 42 6) 32x + 72

7(2x +3) ?2(5x —7) 7(4x+9)



1 used the distributive property below. Find the missing values that go in the parentheses.

="
1) 4(X+Q)

4x+é

Y “"Ns Nh«‘} 1S "})( 7@
4 hmes What is 87@

4) 3( + )
6k +9

2) 5( - ) 3) 7C + )
Sm — 45 Fg21
5 2( + ) 6) 9 — )
8p + 14 639 — 54

| used the distributive property below. Find the missing values that go in the parentheses.

1) 7_x+2_8
Ay
x+5)
T4 whet i T 2 X

T by whet is ;LY?"f

4) 14x +56

7C + )

9x — 81 3) 12x+ 72
9( - ) 12( + )
28x + 8 6) 27x+ 36
4 + ) 3C + )
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| used the distributive property below. Find the missing number that | distributed to get my answer.

1) 3x +21 4t - 44 3) Sh-60
PR
(X +7) 22(t - 11) 2(h - 12)
v @ =
243
4) 22x + 33 30x — 42 6) 32x+72
?7(2x + 3) (5% —7) ?(4x + 9)

a

&)



r =

| used the distributive property below. Find the missing values that go in the parentheses.

)
1) 4(X+Q) 2) S5(m-9) 3) 7(9+3)
4% +8 Sm — 45 79 + 21

4 “‘IN> NWJ 15 "’)( ?@
4 hmey What i 87@

a) 3@k+3) 5 2(fp+) 6) 9(4-0)
6k +9 8p + 14 63g — 54

| used the distributive property below. Find the missing values that go in the parentheses.

1)  7x+28 2) 9x-8l1 3) 12x+72
/-N -
7(,(?.1) 29X -9) 12( +6)

7‘f|w.;wh~{’ (R 77~ ?X
T hoes whet 1y l??‘f

4) 14x + 56 5) 28x+8 6) 27x + 36
72 +8 ) 4(Tn+ Q) 3(x+12)




